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13.1.6 Prove that
- |H,(0| = |H,(ix)]. Q<@k%©

13.1.8 (a) Expand x> in a series of even order Hermite polynomials.
(b) Expand x¥*!in a series of odd order Hermite polynomials.
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(b) x* = A2 ) 2n + DI - !’

n=20
Hint. Use a Rodrigues representation of H,,(x) and integrate by parts.

r=20,1,2,....

(ﬂiﬁ’ f;§c>u/ Heat fao Herwle ﬁgqcﬁbas
b0 = &7 f,6)

Qe eiﬁeor/é«&zcﬁows G@/ %@ S@'érbw.—- L(Bu villz
Pro blecee
I 2
é? * (=x ﬂ‘ﬁ&;7:) = O,
‘izzgki' éiéyyzgfﬁ? 4= 2wt whece Ortpac
- Ot &
el &éw;? o e st frow e

(Cupde fie Focicr Aussform  off

@\égj = ’X4MD62__){€2é 5. ‘
| At .
'/fu\ S ‘ (7‘7 /4 &?ﬂ)@‘rlﬁr
Q‘{; Zf& C—AW . C"ﬁé 2 'A‘)V”‘ef—_./{afk‘_ﬁ’& ‘
ﬁ(er h‘éewﬁ S Cee "[&e 7C=c:€ /aie Rules
bec “C'/? “.F =3 .
MLQ %Vl/!:z’r" Forer e ﬁrf S«zu éh’c;‘o«t& Cg
<@ FRCGS

Aﬁfﬁiéf Howe warte 1&!5? ay <7J9/é¢£’ lero

-2
2. HERMITEN POLYNOMIT:
2.1. w'(z) - 2zw*(z) + 2nw(z) = O
n
2 0 2 2 k n-2k
_ n z° 4 -z (~1)"nl!(2z)
2.2 Hy(z)= (=1)%e® - 2(e™ )= 20 rtaoudT
2.3, HO(z)= 1
HT(Z)= . 2z
.
H2(Z)= ~2  +4z
Hy(z)= 12z +8z°
B, (z)= 12 -487° +1624
= 3 5
HB(z)- 120z =160z +32%
2.4. ggzﬁ=2m%_ﬁg) , neN,
- &
2.5, zH! (z)= ni]_,(z) + nH_(z) ~, n€N,
=1 _ €
2.6. an(z)— 5 Hn+1(z)+an_1(z) ; nEMN,
o0 o
2 2 H (z)
2.7. e? _(Z-Y) = ZEL nni \gn
n=0 :
00 _ '
2.8 e“xz-H (x)H (x)dx = 2nn'VE15
e m n B - mn
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=X _ 1 Q m<
2.3 je rx By (x)dx “{nl%‘f: m=n
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Léhde: Sneddon, I.N,: Special Fuhctions of Mathematical Physics
and Chemistxy
Huom: Edells [-1%] = % y kun n on parillinen ja
Q%l y Kun 1 on pariton
Sopimus: H .= 0



